B A KR

2 AT RE N ERIE

4

40x3 + 1222 +9x + 20
5x+ 4

505 + 172 + 14x+ 24
x+3

15x2 — 21x— 72
3x—9

40x2 + 89x + 40
S5x+ 8§

56x2 — 113x + 56
&x— 7

16x° — 1622 + 8x
&x

36x° — 60x2 — 15x + 36
6x—9

14x3 + 63x% + 14x
Tx

365 + 6632 — 6
6x+ 2

64x% + 56x + 10
&+ 5
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B A KR

2 AT RE N ERIE

G2

40x3 + 1222 +9x + 20
5x+ 4
8 — 4x+5

503 + 172 + 14x+ 24
x+3
5¢2 4+ 2x+8

15x2 — 21x— 72
3x—9
S5x+ 8

40x2 + 89x + 40
S5x+ 8§
&+ 5

56x2 — 113x + 56
&x— 7
Tx— 8

H #A:

16x° — 16x° + 8x

&x
2% — 2x+ 1

36x° — 60x2 — 15x + 36
6x—9
6x> —x—4

14x° + 63 + 14x

Tx
2% + 9x + 2

36x° + 66:2 — 6
6x+ 2
6% + 9x — 3

64x% + 56x + 10
&+ 5
x+ 2
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